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QUESTION 1

What should you do to purge logs for certain days from your IDP Management Server? 

A. purge the logs from the IDP User Interface 

B. Logs cannot be purged until the disk is full. 

C. Purge the logs manually from the CLI of each IDP Sensor 

D. Purge the logs manually from the CLI of the IDP Management Server 

Correct Answer: A 

 

QUESTION 2

Within the SYN protector rule base, what is the function of relay action? 

A. It will create a session with the server only if the client completes the three-step TCP handshake with the sensor. 

B. It will monitor new connections to a protected server, but not prevent them. 

C. It will relay all SYN connections to a fake IP. 

D. It will not monitor incoming SYN requests. 

Correct Answer: A 

 

QUESTION 3

Which three actions must be taken prior to deploying an IDP Sensor in a network? (Choose three.) 

A. An IP address must be defined on all forwarding interfaces. 

B. IDP Sensor must be configured with the ACM and assigned a Management IP address. 

C. A Security Policy must be configured for this IDP Sensor. 

D. The IDP Sensor object must be configured in the IDP Management Server. 

Correct Answer: BCD 

 

QUESTION 4

On which two operating systems can the IDP Management Server be installed? (Choose two.) 

A. Linux 

B. Solaris 
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C. Windows 

D. Any Java capable operating system 

Correct Answer: AB 

 

QUESTION 5

When you have two IDP sensors in a cluster, and the sensors are using external HA, which three devices will be
performing the failure detection and failover execution? (Choose three.) 

A. bypass units connected to the sensors 

B. firewalls running a redundancy protocol 

C. routers running a redundancy protocol 

D. IDP sensors 

E. load balancers 

Correct Answer: BCE 
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